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   CARICHI STRUTTURALI tot.  2,84 ("#
$%) 

 
• Soletta e lamiera)          = 2,40	-./01 

 
• Travetti)       0,22	 23

4
	 ∙ 	 6

7.9	4
= 0,44	-./01 

 
 

 SOVRACCARICHI PERMANENTI tot.  0,50 ("#
$%) 

 

• Pavimentazione)     
6.7	 4 ×	6.7	 4 ×	7.71	 4 	∙	9	 ;<

=>

6.7	(4?)
= 0,1	-./01 

 

• Allettamento)          
6.7	 4 ×	6.7	 4 ×	7.71	 4 	∙	17	 ;<

=>

6.7	(4?)
= 0,4	-./01 

 

 CARICHI ACCIDENTALI tot. 2,00 ("#
$%) 
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A∗ = 1.3	×	2.84	
-.
01 + 1.5	×	0.50	

-.
01 + 1.5	×	2.0	

-.
01 = G, HH	

"#
$%  

 

AI 	
"#
$

= J∗	×	K = 7,44
-.
01 	×	5.0	(0) 	= 	MG, %N	

"#
$
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